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(a) To solve the equation x> — 8x% = 0, we the left-hand side.
1

(b) Find the solutions of the equation x2(

x — 8) = 0. (Enter your answers as a comma-separated list.)

Solve the equation /3x + x = 0 by doing the following steps.

(a) Isolate the radical.
2 (b) Square both sides.
(c) Find the solutions of the resulting quadratic equation. (Enter your answers as a comma-separated list.)

(d) Find the solution(s) that satisfy the original equation. (Enter your answers as a comma-separated list.)
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Squaring both sides casts a net over the solutions, but that net captures "extraneous"
solutions (Fish you throw back), sometimes.

Squaring both sides results in an equation that has MORE solutions than the original,
sometimes.
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The equation (x + 1)2 — 12(x + 1) + 27 = 0 is of type. To solve the equation, we set W = yq|

The resulting quadratic equation is
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This equation is "quadratic in (x + 1)." WENw +1F =0
LetW=x+1. we gqw 3w 27
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The equation x® + 3x3 — 5 = 0 is of [—Select— v| type. To solve the equation, we set W = . The resulty

quadratic equation is
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= W Bw-E =0, whe w=x ==
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- Before your brain breaks,
_24.’@ Aane om0 Lo moe / let's move on. This is
2 . beyond the scope of our

course, at present.
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Find all real solutions of the equation. (Enter your answers as a comma-separated list.)

5 3x3 — 12x2 =0

See #1 Video.

Find all real solutions of the equation. (Enter your answers as a comma-separated list.)

6 x3 = 81x

Yol = x(!q'-ﬁﬁ-'— x(x—‘:)(m—‘i\ =0
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Find all real solutions of the equation. (Enter your answers as a comma-separated list.)
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Find all real solutions of the equation. (Enter your answers as a comma-separated list.)
8 (4x + 7)* = (4x + 7)3 = 0
Lat w = Y+ Ther
th - UJ—, =0

== w,(\a)"\ -’D
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==2 Y =-0
. =+ xX= -e -f-32 =X
xX="Y 1 *
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Find all real solutions of the equation. (Enter your answers as a comma-separated list.)
9 x3-2x2-2x+4=0 T Acroe By GroupiNg
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x-1 =& OR -2 =0
T
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\xé i- (a,\(;_,';i

Find all real solutions of the equation. (Enter your answers as a comma-separated list.)

10 2% +3x2-32x-48=0
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Find all real solutions of the equation. (Enter your answers as a comma-separated list. If there is no real solution, enter N(
REAL SOLUTION.)
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Find all real solutions of the equation. (Enter your answers as a comma-separated list. If there is no real solution, enter NO
REAL SOLUTION.)
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Find all real solutions of the equation. (Enter your answers as a comma-separated list. If there is no real solution, enter NO
REAL SOLUTION.)
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REAL SOLUTION.)
14 4=+/ax - 20
¢ =07
.4,-1.0‘-‘-‘112'”'
yx-3( =0
x=9

Find all real solutions of the equation. (Enter your answers as a comma-separated list. If there is no real solution, enter NO

P! Nad ux-2020
4x 220
{x (YZTE:‘; Dosmérn
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Find all real solutions of the equation. (Enter your answers as a comma-separated list. If there is no real solution, enter NC
REAL SOLUTION.)

/ / 4—2
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120 ondl e"éo > )
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N

B 9,04
E‘?—/g, eo)
Find all real solutions of the equation. (Enter your answers as a comma-separated list. If there is no real solution, enter NO
REAL SOLUTION.)
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